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TSP
3 24 /) pEiE 88 68 113 64 96 114 99 65 159 108 119 155 —
(ng/nr°)
PM103 pIisE 61 45 67 36 57 65 56 37 101 49 71 77 100
(pg/m°)
PM2s 24| priE 18 — — u — — 20 — — 15 — — 35
(pg/m’)
SO, Bt IS 0.008 0.006 0.023 0.006 0.009 0.013 0.016 0.007 0.019 0.021 0.033 0.029 0.075
(ppm) pLiaE 0.003 0.003 0.008 0.003 0.005 0.007 0.007 0.003 0.009 0.008 0.008 0.011 —
NO, Bk T IEE 0.046 0.026 0.062 0.037 0.060 0.055 0.039 0.034 0.050 0.043 0.046 0.045 0.1
(ppm) pTiaE 0.019 0.015 0.031 0.018 0.006 0.028 0.020 0.013 0.024 0.027 0.028 0.027 —
NO Bt T IEE 0.020 0.010 0.046 0.007 0.039 0.027 0.017 0.001 0.039 0.028 0.001 0.046 —
(ppm) pTiaE 0.005 0.002 0.010 0.001 0.007 0.008 0.002 <0.001 0.010 0.007 <0.001 0.010 -
Cco Bt I IEE 0.70 0.31 0.99 0.48 0.42 0.85 1.64 0.47 1.80 1.25 1.26 0.16 35
(ppm) Bt 8 pELIEE 0.44 0.21 0.61 0.36 0.32 0.62 0.50 0.35 1.38 0.65 0.59 0.81 9
0O, Bk I IEE 0.082 0.068 0.089 0.072 0.085 0.068 0.091 0.065 0.069 0.067 0.097 0.084 0.12
(ppm) Ht 8 EIEaE 0.055 0.048 0.056 0.053 0.063 0.045 0.083 0.056 0.047 0.037 0.056 0.055 0.06
’\(l;')\ﬁz;: pLiog 0.45 0.15 0.36 0.15 0.22 0.88 0.21 0.10 0.59 0.25 0.23 0.32 —
& (ug/m®) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
& (ug/md) 24 ) pE g <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
A (ng/md) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
£ (ug/m®) 24 | pFiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
4 (Lgmd) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
4 (ug/m’) 24 ) pE g 11.70 3.65 9.95 5.07 3.83 6.46 5.88 5.32 7.12 5.07 5.96 5.33 —
BA R o # ARl 30 E # = = AR @ A # @ A —
i (M/s) i P ilafi, 1.6 2.7 1.3 0.7 18 0.9 1.8 14 2.1 1.6 14 1.8 —
& 24 | B
2R (C) p-LiaE 27.3 22.2 19.7 27.0 23.5 19.8 39.2 24.4 19.8 27.7 24.4 19.7 —
¥IBER (%) pTimE 75 64 56 79 54 62 79 60 58 77 65 52 -
EARE g/m?/ 8.5 7.0 7.0 7.7 7.8 7.2 7.2 8.1 —
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P4 FELLEE — - [ 75 [ 70 [ 6 | HEHE
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o — — 60 55 50
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S IR — — 70 S
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a - 8% 5
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53 o5 pEp e -k -pH-DO-BODs~COD~SS~% & ~#H P B ~
S ALESE I XS T T R N AR T I LI r i SRS O
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3EIFEErE—pd FAAT - DBATARE U0 E K 45 T pHrL e
106 LplshARORTE RIS £ AL
S T
g P MDL A A Axr B. B« B C: C- Cx i]\,,?g&,
(¥ ) o
pH - 83 82 | 83 | 82 | 83 8.2 82 82 82 |75-85
K8 (°0) - 268 | 265 | 261 | 273 | 271 | 268 | 272 | 270 | 269 | —
23 E(mgll)| - 6.3 62 | 62 | 63 | 62 6.2 6.2 6.2 62 | >5.0
%f(n%ﬁjg 10 | 36 34 | 32 | 56 | 48 5.0 2.4 3.2 3.2 _
A& (psy) | - 334 | 332 | 333 | 336 | 334 | 334 | 337 | 336 | 337 | —
S RMm |- 21 - - 1.7 - - 1.6 - - -
PRETRN=Sr-1
2 ngf",ﬁ) 21 90 | 031 | 020 | 044 | 011 | 019 | 031 | 019 | 020 | 028 | <30
CERIE | 15 | 24 20 | 18 | ND. | 20 18 2.2 3.0 1.7 _
(mg/L) . . . . . . . . . . .
wai(mg/l) | 0.002 | 0.068 | 0.049 | 0.052 | 0.047 | 0.048 | 0059 | 0.057 | 0081 | 0.062 | —
%3 (mg/l) | 010 | 055 | 046 | 052 | 053 | 042 | 045 | 052 | 051 | 049 | —
% 5 (mg/L) | 002 | 002 | 017 | ND. | 001 | 001 | 005 | 003 | 00004 | ND. | —
ﬁéf,_)* 009 | 051 | 043 | 048 | 050 | 038 | 043 | 045 | 041 | 040 —
*”(g’ﬁf 001 | 004 | 003 | 003 | 003 | 003 | 003 | 007 | 009 | 008 | _
AR @(mg/L)| 007 | 018 | 012 | 012 | 012 | 014 | 010 | 030 | 038 | 037 | —
I fﬂng‘;g ¥ 10002| ND. | ND. | 001 | ND. | 001 | ND. | ND. | 001 | 001 | —
i"(rfjgﬁ;rt)ﬁ 0005 | ND. | ND. | 003 | ND. | 003 | ND. | ND. | 003 | 003 | —
7 75 (mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
@ (mg/l) |00009] ND. | ND. | ND. | ND. | ND. |<0.0100|<0.0100] N.D. | N.D. | 0.01
(SF%/?OOn?T_) 10 | 200 | 210 | 170 | 120 | 160 45 140 25 75 -
7 (mg/L) | 0.0003 | 0.0014 | 0.0015 | 0.0014 | 0.0014 | 0.0014 | 0.0015 | 0.0014 | 0.0015 | 0.0015 | 0.05
#(mg/L) |0.00001] 0.00005 [0.00006 |0.00005|0.00003] 0.00003 | 0.00003 | 0.00005 | 0.00005 | 0.00004 | 0.005
7 (mg/L) | 0.0050 | <0.0050 | <0.0050 |<0.0050|<0.0050] <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.05
A (mg/L) |0.00015 N.D. | 0003 | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0001
#(mg/L) |0.00001| 0.00022 | 0.00023 |0.00022|0.00020] 0.00023 | 0.00018 | 0.00027 | 0.00033 | 0.00039 | 0.03
% (mg/L) 0.00001] 0.00020 | 0.00024 |0.00021]0.00017| 0.00017 | 0.00019 | 0.00024 | 0.00028 | 0.00022 | —
&-(mg/L) |0.00001] 0.00025 | 0.00033 |0.00035|0.00018] 0.00013 | 0.00013 | 0.00021 | 0.00014 | 0.00014 | 0.01
#(mg/L) 0.00001] 0.00150 | 0.00138 |0.00138]0.00148| 0.00117 | 0.00119 | 0.00171 | 0.00203 | 0.00237 | 0.5
%ﬁ,g 0.00003| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(fné/lS 0.00003| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
4 (“mfgﬁ; 0.00004f N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
BT
B (mﬁ?ﬁ) 0.00005| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
szni;;i; 0.00025| <0.00025 | <0.00025 [<0.00025|<0.00025| <0.00025 | <0.00025 | <0.00025 | <0.00025 | <0.00025 0.1
(“mj;ﬁ; 0.00004f ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
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